


Size: 0/1-1/3-6/9 - 12/18 months (2 - 3/4) years
Size in cm: 48/52 - 56/62 - 68/74 - 80/86 (92 - 98/104)

Materials:

WENDY ARAN WITH WOOL
5502-5505 COLORS

CIRCULAR NEEDLE (60 or 80 cm) SIZE 4 mm - or size needed to get 21 sts x 42 rows in garter st
=10x 10cm.

DOUBLE POINTED NEEDLES and CIRCULAR NEEDLE (60 cm) SIZE 3 mm - for rib.
MOTHER-OF-WOOD BUTTON: 6 pieces

GARTER ST (back and forth on circular needle):

K all rows. 1 ridge = 2 rows K.

STRIPES:

* 1 ridge off brown, 2 ridge milky brown*, repeat from *

JACKET:

Worked back and forth on circular needle. Beg on front piece, cast on new sts for sleeve and work
up to the shoulder. Put piece aside and work the other front piece. Then place both front pieces
tog and work down the back piece.

RIGHT FRONT PIECE:

Cast on 34-38-38-42 (42-46) sts (incl 1 edge st in each side) on circular needle size 3 mm with off
white. P 1 row from WS. Then work next row as follows from RS: 1 edge st in GARTER ST - see
explanation above - * K 2, P 2 *, repeat from *-* until 1 st remains and finish with 1 edge st in
GARTER ST. Continue rib like this. When piece measures 4 cm, K 1 row from RS while AT THE
SAME TIME dec 9-11-9-11 (9-10) sts evenly = 25-27-29-31 (33-36) sts. Switch to circular needle
size 4 mm and K 1 row from WS. Then work in GARTER ST — see explanation above while AT THE
SAME TIME working STRIPES — see explanation above. REMEMBER THE KNITTING TENSION!
When piece measures 14-17-18-20 (22-25) cm, cast on new sts for sleeve at the end of every row
from RS as follows: Cast on 5 sts 3-5-0-0 (4-5) times in total, 4 sts 0-0-7-8 (5-7) times in total and
then 7-4-5-7 (8-4) sts 1 time = 47-56-62-70 (81-93) sts.

After last inc continue in garter st and stripes until piece measures 20-24-26-28 (31-35) cm. Now
slip the first 4-5-6-6 (7-8) sts at beg of row from RS on 1 stitch holder for neck (work sts before
slipping them on holder to avoid cutting the yarn). Then cast off at beg of every row from RS as
follows: Cast off 2 sts 2 times and then 1 st 2-2-2-2 (3-3) times = 37-45-50-58 (67-78) sts.
Continue to work until piece measures 24-28-30-33 (36-40) cm.

Insert 1 marker (= mid on top of shoulder) — NOW MEASURE PIECE FROM HERE!

Continue in garter st and with stripes as before until 1 cm has been worked from marker but on
last row from WS cast on 2 new sts at the end of row towards the neck. Slip 39-47-52-60 (69-80)
sts on 1 stitch holder.

LEFT FRONT PIECE:

Cast on and work as right but reversed, i.e. rib beg with 2 P after 1 edge st in the side and ends
with 2 K before 1 edge st towards mid front. When casting on new sts for sleeve at the end of
every row from WS, dec for neck at beg of every row from WS and when casting on 2 new sts
towards the neck, this is done at the end of last row from RS, then K 1 row from WS so that both
front pieces end after 1 row K from WS.

BACK PIECE:

Work the 39-47-52-60 (69-80) sts from left front piece (1st row = K from RS and continue stripes
as before), cast on 14-16-18-18 (22-24) new sts on needle (= neckline in the back of neck) and
work the 39-47-52-60 (69-80) sts from right front piece on to same circular needle = 92-110-
122-138 (160-184) sts.



Continue in garter st and with stripes. When piece measures 8-8-8-9 (9-9) cm from marker on
shoulder (adjust so that no of rows and stripes is the same on front piece according to marker on
shoulder), now cast off at beg of every row in each side as follows: Cast off 7-4-5-7 (8-4) sts 1
time, 4 sts 0-0-7-8 (5-7) times in total and 5 sts 3-5-0-0 (4-5) times in total = 48-52-56-60 (64-70)
sts remain on back piece. Work until piece measures 20-24-26-29 (32-36) cm from marker on
shoulder — adjust according to front piece and make sure to finish stripes the way they started on
front piece. Switch to circular needle size 3 mm and off white and K 1 row from RS AT THE SAME
TIME inc 20-20-20-20 (20-22) sts evenly = 68-72-76-80 (84-92) sts. Work next row as follows
from WS: 1 edge stin garter st, * P 2, K 2 *, repeat from *-* until 3 sts remain and finish with P 2
and 1 edge st in garter st (from RS there are 2 K sts in each side inside edge st). Continue rib like
this.

When rib measures 4 cm (piece measures approx. 24-28-30-33 (36-40) cm from marker on
shoulder), K 1 row (from RS) over all sts before loosely casting off.

RIGHT BAND:

Pick up from RS approx. 42 to 74 sts along right front piece inside 1 edge st in garter st on circular
needle size 3 mm with milky brown. K 1 row from WS. K 1 row from RS while AT THE SAME
TIME inc evenly to 53-61-65-73 (81-89) sts. Work next row as follows from WS: 1 edge st in
garter st, * P 2, K 2 *, repeat from *-* until 4 sts remain and finish with P 2 and 2 edge sts in garter
st. Continue rib like this. When band measures 1 cm, dec on next row from RS for 4-4-4-5 (5-5)
buttonholes evenly. 1 buttonhole = P 2 tog and make 1 YO (dec in a P-section seen from RS will
look more pretty). Upper buttonhole should be approx. 4 cm from neck edge, and bottom
buttonhole approx. 2 cm from bottom edge.

Continue to work until band measures 22-2>-2V>-3 (3-3) cm and loosely cast off with K over K
and P over P.

LEFT BAND:
Work as right band but do not dec for buttonholes on left band.

NECK EDGE:

Pick up from RS approx. 56 to 78 sts (incl sts on stitch holders) around the neck (also over bands)
on circular needle size 3 mm with milky brown. K 1 row from WS. K 1 row from RS while AT THE
SAME TIME inc evenly to 68-72-76-80 (88-92) sts. Work next row as follows from WS: 1 edge st
in garter st, * P 2, K 2 *, repeat from *-* until 3 sts remain and finish with P 2 and 1 edge sts in
garter st. Continue rib like this. When neck edge measures 1 cm, dec for 1 buttonhole over the
other holes on right band.

Continue to work until neck edge measures 2'2-2'>-2">-3 (3-3) cm and loosely cast off with K over
K and P over P.

ASSEMBLY:
Sew side and underarm seams in one inside 1 edge st.
Sew on buttons.

SLEEVE EDGE:

Pick up from RS approx. 34 to 38 sts at the bottom around the sleeve on double pointed needles
size 3 mm with milky brown. P 1 round. K 1 round while AT THE SAME TIME inc evenly to 40-40-
40-44 (48-48) sts. Then work rib = K 2/P 2. When sleeve edge measures 4 cm, loosely cast off
with K over K and P over P.

Repeat at the bottom around the other sleeve.
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